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(A) Choroid 4  (B) Sclera ! [“ (C) Retina L2 (D) Blind Spot ..b,l;«ﬁf i

Note : Four choices A, B, C, D to each question are given. Which cholce is correct, fill that circle In front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result In zero mark in that question.

Which type of Blood Vessels surround the Alveoli : : Utlmnr FBSUASHS Lduw 120y

(A) Capillaries %/~ (B) Arterioles /4/,7 (C) Veins % (D) Arteries 2/.7 e

The average lifetime of donated Kidney is : N | : 4‘:.3:'! 2 7 sl d/ 4.:; éi(.f...-_'l:' (2)“

(A) 5-10Years  (B) 10-15Years  (C) 15-20 Years (D) 15-22 Years

In eye, Rods and Cones are present in : s sz Kl b FT 3

Hyaline Cartilage is found in ¢ bbbl mld il @

(A) Epiglottis v 3{(,5! (B) Pidnat;  (C) Trachea £/ (D) Intervertebral Discs u‘c SJgnp

Which one is male reproductive part of flower : : g.Uf oS3 6)% B

(A) Caylx \fq-f (B) Corolla U5/ (C) Androecium ﬁ.’ sk (D) Gynoecium ﬂ.}:éf

(A) Yeast & (B) Bacteria | /g"é (C) Planarian (/2% (D) Amoeba L/

Which of the following reproduces by Budding : D e b S U g s Erg et ©

The branch of Biology which deals with the study of Inheritance, is called.*

(A) Physiology G417  (B) Histology G#»7  (C) Anatomy St (D) Genetics u‘é{

DT R VRN 1s M ARIANC)

(A) Adenine £4  (B) Thymine o20¥  (C) Uracil Jby (D) Guanine w21/

Cytosine forms pair with : s ‘4.83: B #l; @

(A) Ascaris U /:c I (B) Leech % (C) Tapeworm (st (D) Entamoeba Ll

Which one of the following is an Ectoparasite : : ‘¢L5f alLie gt @

The primary source of Energy for all Ecosystems is : : ‘4;1"/5(215:1 Y ,.’-ftru" 10
(A) Sun Gur  (B) Plants <5y () Water df (D) Blectricity (¥

In Genetic Engineering Plasmids areusedas __ : Y. 20 g T D) IS 9 e (1)
(A) Endonuclease );‘fu‘«;l (B) Vector /‘J.'./: (C) Ligase ,‘[JU (D) Donar /s

"\;h.ich Drug is Sedatives : | - ﬁ'—UJ Sy stdr! (12)
(A) Paracetamol (Jrixis (B) Tetracycline w‘:'w}r‘

(C) Cephalosporin s & (D) Diazepam ({15
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Note : itis compulsory to attempt (5 -- 5) parts each from Q.No.2, Q.No.3 and Q.No.4 and Attempt any (02) questions from
Part Il. Write same Question No. and its Part No. as given in the Questior Paper.
. g @ P Rup -1 ~2Y

30 = 2)(.1 5 | Make diagram where necessary. ..u_," LJ{ Jﬁ nSnrUlz (Part-1) Jé‘lw

_"4’:4 L F J’) 'y PR Jﬁfull:&' ;zrutumg;du,cu!ém/, sl __l.‘..r/‘
Write down the function of Ciliated and Glandular Cells on inner lining of Trachea.

How Respiratory Centre in brain controls the rate of breathing? ?‘4(:‘/ U A 4,_'..(/40/@( uJ LA p s 22 St

What is the role of “Allergens” in Asthma disease? ?c‘-Jb/_ V¥ 2 S /Z:.a;v
Why transpiration does not occur at night? St ud S (ﬁfylfcﬁ:égfz
Define “Osmosis”. Ay NENPIL
What is the difference between Nervous and Chemical coordination? ?;.J)y’u: u&,,\l\,gﬁ JT ; J‘C"{ B Jss
Differentiate between Nerve and Ganglion. -’4-{4 /’ J/’ A u..uéfm i
Why Eyes of Cat shine in the night? ‘.‘ufﬁﬁ uY. :«Uu.‘."( it Jﬁ

Differentiate between Moveable and Tmmoveable Joints. ..?_J_:/, )’ Sptusd bd Sl ond i Jals
LS RS S 2 LG R S By

How Biceps and Triceps work in flexion and extension at elbow joint?

& 3 & z .
How Binary Fission occurs in Planaria? P dnl ud: o AW L
Bah
What is the effect of temperature on Seed Germination? ?;_(rn}"l WA; /;) 4 u’:':j.’ d/ &
Differentiate between the Gene and Allele. ?‘ct'nf})‘bfuf J-’.' Fasherf

_é{,}.aj'u:gfeﬂ? u‘gllj ,/‘fu,l.‘;ei:?u'g/urn

Write down the difference between Homozygous Genotype and Heterozygous Genotype.

" rL-LM,;f By ot gl 5sh 8

What are Decomposers? Write the names of two principal Decomposers.

Make a simple food chain upto fifth Trophic level. Lol L JJ;!..II/'(‘;&
‘What is meant by Denitrification? fe sl e =t SF
Define Deforestation. -é.é/ J it gﬁ‘% gLy
Write four uses of Formic Acid in Biotechnology. -gﬁ:d‘f = e zlgw&:’l:-?)f VAL
What does GMO stands for? T;;___ii? ¥ GMo
Write names of two Narcotics obtained from Opium. -u..’j rL‘LU’f Thnu/Pla eyl
Define Vaccine. , -é..éj /7 L,( Ja s
18=2x9 (Part-11) pasac>

(4) Write a note on two Ways of Dialysis. -uf.’ﬂ WP INL YDV
(5) Define Arthritis and describe its three types. oL uy.,»uw:" mez{i’_g A Wed Y7
(4) Write the role of Adrenal Gland in Human. L1 F mSE Sy S
(5) Write anote on Binary Fission in Bacteria. Also draw diagram. - /tf ¥4 d«]{,w"' AL 25
(4) LI KNS A1 B2 e i & ot

Describe the Major achievements of Genetic Engineering in Medicine and Agriculture.

(5) Write a note on Sedatives and Narcotics. -ufi -L].{,u“'{ Skl Sk

kg okl e

Define Law of Independent Assortment. _é i P Jest IV S S T
Give an example of Mendel's Monohybrid Cross. e S/ AL Jhr
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Note : Four choices A, B, C, D to each question are given. Which cholce Is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question,

The number of Carcinogens in Tobacco Smoke is : - ‘4.:!»7(; R K AL LN 140
(A) More than 40 #1jc40 (B) More than 50 41ie50 )
(C) More than 60 4lic60 : (D) More than 70 41570

The major cause of Kidney Stoneis : - : ‘a,,nd?.d/ ] ﬁ({ /..:j 2
(A) Deficiency of Vitamin A (f Je_1e/"ts (B) Excessive intake of Vitamin B (s.i(fJe/ts

(C) Excessive intake of Vitamin D 8:&)(5/ Ui 'ts (D) Deficiency of Vitamin E af Juiests

It Controls Thinking, Intelligence and Emotions : e b/ iy (B
(A) Cerebrum ¢z«  (B) Cerebellum ‘J’.% (C) Thalamus é;? (D) Pons #,

The number of bones in Pectoral Girdle is : : 98:‘1:!»"' g,( ULh* Jﬁf Ju’g @
@ 2 ® 4 © 6 D 3

Method of Asexual Reproduction in Hydra is( : : 4—.'51,,) (4)}(;7? AU (5)
(A) Parthenogenesis ﬁ‘f-'r,‘,‘? 4 (B) Regeneration % 2(5

(C) Binary Fission o5~ (D) Budding £%
Rootdevelops from___ ofthe Seed : q_tjg e LlE2 | 6)
(A) Radical J£4/  (B) Plumule Jr  (C) Epicotyl J¥(§ (D) Hypocotyl J¥¥ |

t s B PSS RuP LA |
A person having no antigen in the blood will have Blood Group :

A A B B (© AB O o
A cross in which one character is studied is called : : q:.b‘lh( &fm?L.lg,L_f.JW(M:‘; u"_{l e u‘l/ (f( [ @®

(A) Monohybrid Cross /1./3 /| s (B) Test Cross 1/ e

(C) Dihybrid Cross U1./3#| (13 (D) Back Cross 1./

It is an example of Secondary Consumer : P e Jout g /[/f 92 | (9
(A) Fox §rY) (B) Lion 2 (C) Leopard &z (D) Oowl #f |
Formation of Nitrites and Nitrates from Ammonia is called : : Lb'!h'( 411 u"-t /‘"L’Aluf"/l Fle byl (10)
(A) Assimilation o I (B) Denitrification e Ao

(C) Nitrification 4/.0 “UFE (D) Ammonification Wp‘ 21

Itcuts Genes fromDNA ___ : : 4.(.«‘(/’ c.al-u‘l-d;./ “1
(A) Ligase /f 4y (B) Endonuclease Pl (o) Urokinase 56uy (D) Lipase ly ,
Diazepamisa____ drug : ¢!».._-(de§6,{ (12)

(A) Analgesics u‘a’ "4 (B) Antibiotics U £L*  (C) Sedatives %k (D) Vaccines /../-'(: '
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Note : it is compulsory to attempt (5 —- 5) parts each from Q.No.2, Q.No.3 and Q.No.4 and Attempt any (02) questions from

Part ll. Write same Question No. and its Part No. as given in the Question Paper.

30 = 2x15 | Make diagram where necessary. -Jﬁ’a(}"‘(pndﬂfu‘ff (Part-1)  Jalac>

What are the effects of Nicotine on human? ?wl_n.:.l}'f_.tf 4 uUlLufi
Why Passive Smoking is dangerous? %.Jn-fl:}"u[ e gty
Write the functions of Pleural Membrane. -g/,j Jot Loy Uik
247 tilne 0SBt U sy
?4},(}}?&@ /’u/ Lu’ﬂ..ﬁ,:‘ﬂ;’ﬂu”ﬂ’dm
What are Axons and Dendrites? tutlny| u“’,ujz;j »l 51k

%{!L:‘I@!/‘lgﬂ.’é'&n?lz‘ CtadS ity
supgLusd e S " SR St
Why response of Sympathetic Nervous System is called “Fight or Flight”?

Write any two adaptations found in Xerophytes.

How our skin works as Homeostatic Organ?

What are the effects of Damaged Hippocampus?

Define Hinge Joints and give an example. -qj:dl‘?ulq/ -3 /‘“ J Jb" ’iﬁz.‘)"
Name the Chest Bone and how many pairs it congists of ? v‘aén‘}’ﬁ' wﬁzéf,mg‘f rb(uy,.*,:g
Write two advantages of Vegetative Propagation in Plants. -d.‘."v sl Wizt u’w At Usy
Differentiate between Sporophyte and Gametophyte Generation. -"é J/ u-fﬁ AL G:‘{-:C;I..'f’b'mr
Write the names of four Nitrogenous Bases of DNA. «Uf-’a rté: (R /" t /lg
What is meant by Homozygous Genotype? Tl /y’c.gw V. f’urn
Define Mendel’s Law of Segregation. -Q_’/ - /‘7 p( ufug{v _,Qu Gy Lk
Write two major processes of Organic Evolution. -Zﬁr JIe i »é;ﬁbl(_jyt‘
Differentiate between Biotic and Abiotic components of Bcosystem. —f /e oI B\ et sl B L o\
Why Food Chains are very complex? ?wanu,{ngp&{. Peat
Why Afforestation is an effective mean to control Air Pollution? ?w.g,b}&? "7 J: /"f \Lﬂéinu.&bﬁalﬁez’_
What do you know about Industrial Nitrogen Fixation? mz‘.,&yﬁ,ﬁ"’ PR NV < JIPQR DR TR .
What is Lactic Acid Fermentation? ?‘a_l/ ol i Lol S
Write down two advantages of using Fermenter. Z el S e Yt
What are Antibiotics? Give two examples. -u:;ué l‘#»?u}&ng Vel P gd”-v
What are B-Lymphocytes? Sl UL -B
18=2x9 (Part-11) pgsaa>

(4) How Kidneys Form Urine in our body? ?(,{!Lh-,al%;d:c)/ ¥4 (J <Ja
(5) Write a note on Cartilage and its types. Eif uai/,rl)'l(f st gl 5
(4) C e Qb Ul axp U g Iv i 30k 168 P 1o SIS ot § 50

Why are Neurons Classified into Sensory, Interneurons and Motorneurons based on their functions?
(5) Describe the Process of Oogenesis. .u:/ [SIPSS (P RIPQ|
(4) _u:’”m/ I LA Ul daS e B 2
What is Biotechnology? Write its role in betterment of our environment.
(5) Describe Principle Usage of important Medicinal Drugs. -q/ ugdb’*ldf’ K.:«Lul(f [
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